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28 P2 1l IR “h R 18 FERE
(B/&)

% 1l [ 6-10 7.8-8.6 8.4 s
RAEE (mg/) 100 27-171 422 yss
BEEE V)48 &2 (mg/) 10 <2.0-45 2.7 yss
Wi Y4 E (mg/) 2000 990 - 1579 1167 s
WAL 48 & (me/) 10 <0.5 <0.5 pss
FALYEEE (mg/) 0.1 <0.040 <0.040 s
O EIRGEE (mg/)) 100 24 - 68 49.9 =
HHE  (mg/) 20 <10 <10 =
MeaeE (mg/) 0.5 <0.3 <0.3 v
Ber A E (mg/) 1 <0.6 <0.6 yoss
FHEDEMER (mg/) 15 <7 <7 s
EEFEHE (mg) 2000 208 - 290 239 s
AR E (g 200 24 -50 36 v
(0 43 22-25 23 s
TV E EOEHER | BEMELLT |EEHIE LT s
EEeE

- (mg/) 2 <0.4 <0.4 =
#H (mg/l) 5 <1 <1 =
% (mg/l) 0.1 <0.1 <0.1 s
¥ (mg/D) 1 <0.3 <0.3 =
i (mg/l) 2 0.76 - 1.80 1.14 =
8 (mg/l) 2 <1 <1 yiss
i (mg/l) 5 <0.2 - 0.65 0.35 =
K (mg/) 0.05 <0.05 <0.05 s
57 (mg/l) 2 <1 <1 =
PR (mg/D) 2 <0.4 <0.4 yoss
#  (mg/l) 5 <1 <1 s
#  (mg/D) 2 <1 <1 =
HHeBEEHS (mg/) 10 72-8.3 7.7 s




28 22 1l IR & B EIg 8 FEaRE
(/&)
B (me/l) 5 <1-1.1 1.0 s
#  (mg/) 10 ) <2 pss
-1 &
Aldrin (mg/l) 0.01 <0.01 <0.01 v
BHCS (mg/l) 0.01 <0.01 <0.01 v
AL LT (mgl) 0.01 <0.01 <0.01 v
FEZELEEY
K (mg/) 0.1 <0.06 <0.06 e
HEHEMEey :
1,1,1-= & Z K (mg/) 0.05 <0.025 <0.025 =
ZEBEE
% & I K 48 & (mg/l) 0.003 <0.003 <0.003 s
A EE -
B EENE & (pc/l) 10000 <10000 <10000 v
#%-226 (pc/l) 30 <30 <30 s
#5-90 (pc/l) 100 <100 <100 v
# FECBEEETE M 5 R 8% 8 8 80 0k - 87 R -
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S8 75 i IR &k = W 1 8 FFERE
B/R)

() =+4oeEvsE @
R (mg/m’) 30 0.0 - 2.0 0.3 vy
— &AL (mg/m’) 200 0.5 - 102.4 18.0 vy
EifE (mg/m’) 60 0.0 - 13.3 1.3 s
#AEE (mg/m’) 4 0.0 - 0.1 0.0 vy
A8 1Y
(Bl = & 1k & = &) 400 68.2 — 216.4 115.9 yos
(mg/m’)
A R (mg/m’) 20 00 - 54 0.3 pes
— & /B % (mg/m”) 100 0.2 - 75.7 6.0 pes
(z) HigE @
ok (mg/m?) 10 0.1 - 0.7 0.3 pes
— &1 bR (mg/m’) 50 6.9 - 263 17.8 pes
BEfE (mg/m’) 10 0.1 - 29 1.2 pes
#IEE (mg/m’) 1 0.00 - 0.00 0.00 yies
ALY
(Bl — &1k & 5 &) 200 92.5 - 134.7 115.6 =
(mg/m’)
4 TR (mg/m’) 10 0.14 - 0.52 0.31 =
— E B % (mg/m’) 50 3.0 - 10.3 5.9 =
(H) Hftr
AR EEY
(LB R & &2 H) 24 <1.7 <1.7 =
(mg/m’)
BEARALEY
(Ulaitfa 25t &) 18.8 <1.2 <1.2 yea
(mg/m’)
e R (Ll WM &) -
(ma/m’) 37.5 1.6 1.6 2
Bhsa g (DB ED) (me/m) 55 <0.18 <0.18 pics
B RECRAEE (mg/m)) 5 <15 <1.5 v




2 B 22 1 B & 45 B S8 FERE
(B/E)
EaeBE—8"Y
= A EE (S5 OKE )\ [ 48
RELEG-RN® 0.05 <0.009 <0.009 2
= (mg/m’)
EEeBE_E Y
W (mg/m’) 0.06 <0.002 <0.002 =
4B (B )
AELE =R 0.5 <0.060 <0.060 2
= (mg/m’)
& (mg/m’) 0.05 <0.002 <0.002 yiea
TEEHL (ng/m) 0.075 0.012 0.012 s
=E:
1) FEFNEELRGENNEAAN =T ERFERE 9 8E -
) FHEFENEZE LGN EE BN HEEE -
QR EEeBEBE—FORE : - §
4 BB e RE 85 - Mo~ g~ 85~ 85~ 81 8 88 > 81 -

(5) R A4S g DL 273K ~ 101.3 kPa ~ SE 2R HE RSB IEaT B &
B MLHREEE 112 BASFEEERE -
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28 P22 ) R & GEER SEgE FERE
(B/&)
F—E
8 (H¢ [
B i [ (7K) (E'Jiﬁ B 0106 124 2
)
EEE S %) |0 (;’Eﬁlﬁ 57-95 69.8 2
)
EueE
#% (ppm) 0.5 <0.5 <0.5 ye3
7k (ppm) 0.1 <0.02 - 0.034 0.021 =
PAEE (ppm) 10 <0.5 <0.5 =
#i  (ppm) <0.5-4.8 1.3
#%  (ppm) <0.5 <0.5
5 (ppm) <1.0-1.2 1.0
¥ (ppm) <0.5-2.8 0.6
G R T I =< | .
W (ppm) 25 <2.5-8.6 3.4 B
# (ppm) 20 <1 <1 y=3
ALY (ppm) 10 <5 <5 y=3
RAE (ppm) 10 Q.0-2.7 2.0 y=3
ALY (ppm) 5 <5 <5 y=3
B
g% A
i;ﬁéx M B %Y & <000 <18 5 =
= (ppm)
B MK RERE -
(ppm) 10 <5 <5 TE
21b K Iy 2 = -
(ppm) 2 <2 <2 &
% &N (ppm) 1 <1 <1 yiss
TCDD (ITEF %) =
(ppb) 1 <1 <1 E




